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KAHREE:

PA)={z|xzZA}
EE L2 »tENEER 2 TR
KAMIEEHE:

AUB={z|lz €AV x€EB}
ANB={z|z€ANzEB}
A—B={zx|lz €A Nx ¢ B}
~A={z|x ¢ A}=E—AE h&H)
APB=(A—B) U(B—A)=(AUB—(ANB)
FE O ULAERBEEFTMUETHEZANES;
(2) TUAXKEERRREELEE;
(3) H#ANB=O, N A 5B EALH.
EXxEHEEK:
BEZ@ AUA=A; ANA=A.
S#HE AUB=BUA; ANB=BNA.
e (AUBUC=AUBUO;
(ANB)NC=ANBNO).
SEE AUBNO=AUUBNALUO;
ANBUO=AUNB UMUNO.
EERELEXEX ~AUUB=~AN~B;
~(ANB)=~AU~B.
EEREHEXNERX A-BUO=A-B NAL—-0;
A—(BNCO=A—B) UA—O0).
R AUNB=A; ANAUB) =A.
T AUE=E; ANg=d.
EA—& AUZ=A; ANE=A.
HeE AU~A=E.
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WZHmE A—B=A(~B.
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(2) A=g ,B={J}.
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(5) {J} € PP(A).

6 {F,{J}}SPPA).

1.6 RTFIEEHHTERNE.

(D {zx|lx€ZN—3x<<2}.

) {zlz€EN Nz BEBRED.

) {zlzENNx BAEE Nz ZEE.
D (D AD AT}

e T e

e T e



MFRZTLERTE

G {{{T}}}.

(6) P(A),A={T,{T}}.

1.7 & A={a,2,{3},4},B={{a},4,3,1}. W T F4EEENE.

(1) a€A.

(2) a €B.

(3) {a} €A.

(4) {a} €B.

(5) {a} ZA.

(6) {a} CB.

(7) {a,{3},4) ZA.

(8) {a,{3},4} =B.

(9) JCA.

(10) F<{{a}} <B.

1.8 B A,BAWANES.HACB,WAE¢B—EHNEL?

1.9 WA={1,2,3,4},i kK A LI 2 TTFE.

1,10 & A={J,a} 3Rk A LT TE.

1.11 RTIIEEMNTFEE.
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(2) {1,{a,b}}.
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(4) P(A) NP(B).

(5) P(A) N~P(B).
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1.16 # ACBACCD,AUCCBUD —%ERNHEML?
1.17 # A.BHHNES,. EMASB,BCA ML 42
1.18 HAMETHESZRMEEHETRA.

1.19 XFFE 1.18 iy A,B,C,D,i& .

(1) AUBUD.

(2) ANBND.

(3) ADB.

4 (ANBXDA.

(5) A@C.

.20 WA={x|x BRIP4
B={z|z BRIt KHER ¥4 };
C={z|z BEXB/PI};

D={z|z BRE¥}.
B0 JERSCRH2EERZEE /DL, b REB AT E R, iK€ A,B,C,D Z[d
HEEXRER.
1.21 # ADC=BDC,—EH A=B g7 IEHZ.
1.22 A ={1,2,,i},i=1,2,,3R:
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1.39 HABFBENEIERH . VneN', 3| (P —n).
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1.40 FABFBPENEIEH . YVneN', =271,

1.3 BB ESHM

L1 BABHES N EGDHN AB.C.D.E,EMRFIZIERRA

(1) A= {i,—z}. R R 2%+ 32— 2=0 agwq/.\ml%n—z BT
(2) B=. REFEINHFR 22— 22+5=0 lH B (—2)?—4X1X5=—16<0,
BT TC L AR

(3) C={6}. AREFEEIZL2BMNEL: BAB nr=D A2 on FTHA S
DS BT A W72 M. 78 1~10 1, B 6=1+2+3, Tk 6 B 2% K 9 MEAR
P o

(4 D=d.

(5) E={J}.

R AP B=D=g , X EWUHAEEGRRMGFRT L HEERE M.

1.2 RAEBHH 4NMEESHIA AB.C.D, N

(D A={z|z BERF 3N EXFHZ—).

2 B—{xleZ/\ | x| <3} ,Z L.

(3) C={z|lx IEERUSERTENATE).

4 D—{xEZ Az®+2=0}.

EFE® A.B.C.D WRFBHARE K, B H2 D i LUA S AR KRR

1.3 (D) A=B. HREFEEENRESGRT . EE5THITEEAMEE, I B AT,

(2) A#B. B AFETE M BHFAE—-ITTED.

(3) A=B. &, ,BthEJ.

(4 A#B. B, ATHTRIT €B, BHRHTR(IT) €A.

L4 (D.W.G)RE, HRMNE.

A BABEEELTHA:

O EHEIR—VEEGNTE FELTEE—/;

Q@ MHRESEGZEANBERRAURTESESNE FXA.

HOFHMD GORE, M AR HOWHMMWHRE, M) .(6).(7THE.

L5 HAGHRBR,HAWELRE.

SO EABEEN T EHEEE L.

O ZHETEIEMESHTE;
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@ FEMEN: ACBS Yz(x €EA—>x €B).

HOE5QWH,JCA=T € P(A) AW HNE;

AR PLANESMOR I, T =PA), JT(2) FHE;

HHh D € PLAOMOA L, (T} SPA), HlTI (D HE;

HFIEPAMOAH, (T} k PP(AK 1 TTFE.FL{T} € PPA), k(5D
HE;

HOMG A, { T (T} SPPCA)FTLA, (6) FE.

MFR ARMEMESGHE. BAPFTTEIN, OONE,HlINA={T,a}, M
PAY={T AT} {a} {Tsa}} B, {T} €EPA. MY A FARE T, i A={a,b}
B, PCAY={T,{a},{b},{a,b}} , lEH{ T} € P(LA AT {J} € P(A IR, B LTS
AT A, (3) H iy R R 1R

1.6 B~ FEESH N AB.C.D.E.F, AT ENFHITRYE KB AT
BREE.

A={—3,—2,—1,0,1}, |A|=5;
B={2}, |B[=1;
c=d, |C|=0;
D={F B, {D}}}, ID|=2;
E={{{J}}}, |[EI=1;
F={Z T}, {D}} (D AD}}}, |[Fl=4.
1.7 (D.@W.G). (D (D.ADHFE,(2). (3. (6).(8HR.
1.8 ACBHE,A¢BA—EHNEH.
HAPTEREEB P9 H AWRTEB hi,ACB5AE€EBRIKINE. #lin,A={a,
b}y B={a,b,c,d,{a,b}} ,Ff ACB5AE€BRH,A¢B NK.
BAPFTEMAEBF ,HARE BHE ,ACBIE, M AE€CBRER . BMAEBR
B, A={J a,b,¢}» B={{T},B,a,b,c.d, e}, B ,ACB HE,AEB RE, B
A€ BRE.
L9 HTFIAI=4, T A2 CTFELE C A BME{L,2).{1,3).{1,4},
{2,3}.{2,4}.{3,4}.
.10 A={J,a}h 2 L&, HM ALE 2°=4 T4
0TLFELIAN:T;
1TFE2: (D) {a);
2ILFE 1A (T, a}=A.
111 B~ HES4RH AB.C.D, & D={2,2,2,3}=1{2,3}, 0.
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PLA={T};
P(B)={J,{1},{{asb}},{1,{asb}}};
PO={D AT}, {{D}} AT D} )5
P(D)={,{2},{3},{2,3}}.
1,12 ™R84k E SORfRARE.
(1) ~B=1{3,4,6},A N ~B={4}.
(2) ~C={1,3,5,6}, ANB={1};
(ANB) U~C={1,3,5,6}.
(3) ANB={1}, ik, ~(ANB)={2,3,4,5,6}.
(4 PCAY={T,{1},{4},{1,4}};
PB)={J,{1},{2},{5},{1,2},{1,5},{2,5},{1,2,5}};
P(A) NPBY={T,{1}}.
(5) ~P(B)=P(E)—P(B),1fi | P(E)| =2 =64, |P(B)|=2"=8, F&[~P(B)|=64—
8=56, HIisR~P(B) TAERBKKT HBATLURRK~P(B),haERkH P(A) N~P(B).
HHR PLA={T,{1},{4},{1,4}}, fFLA PCA N~PBYHEZH 4 Hx K, HH
PBYHE {1}, rA~PBHFARE I}, B P(A N~PMB) ARSI},
NHNAEB,FLA{4},{1,4}#8 & P(B),i#k {4} € ~P(B),{1,4} € ~P(B),fiilk,
P(A) N~PB)={{4},{1,4}}.
113 (D ANBUOKMXKENE 1. 1(a) 1R s,
(2) ~AN~BN~C=~AUBUO, LI KERE 1. 1(b)H BRI s,
(3) (A—BUCHUWBUO—A=ADBUO ,HXKE FAE 1. 1(c) F R BHEH

(@) ) (©
B 1.1

S8 \\

(&

MR 1L L, AR, B 1L 158 1. 1O BT RERSERNESZIFNAU
BUC. XE1.1() B L. 1I(OME 1. 1O BHHEH > ZIHNeE E. LI ERHRERLER



